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Question No. 25

Simplify the expression: 13 + 8+ 2(8— 253

1 29

) 3
33
27
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Question No. 22

Factor x2 —8x—20

(x + 1)(x = 20)
(x +2)(x = 10)
(x - 2)(x +10)
(x +2)(x + 10)




—
‘; Question No. 23

2 z= 9-6i

() Z=-9-6i

' Z= 9+6I
= -9+6i

P -

Save & Next

i Write z = 3(-2-;*.—21-
| i

) in the standard formz =a+bi
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- Question No. 24

l

\

The solution set of (x +5)*+10=3 1S

| {iS\E )

no real solutions
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Question No. 20

Select the correct property that describes the given equation. X + (y +3) = x + (3+Y)

Inverse property of addition
Identity property of addition
Associative property of multiphcation

Commutative property of addition
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Question No. 19

Suppose z is a real number. Evaluate the expression —3(z — 1)°

—3
—3Jiftz+#0
3ifx#0

3 itz =+ ]
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Question No. 18

Solve A = P(1 + nr) forr

s A—P
s Pn
Pn
Y e | S—
A—P
A
¥ — —
n
P—A
)Y o | C—
Pn
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Question No. 17

The baseof -5 p* is

-Op
S
4

P




Question No. 13

Which one of the following equations is a contradiction?

3(6x—3) = 16x+ 19
2(x+8)+3x=x—16

5x - 4 =11
5

%2 —4=0
€. .< & " !
ey ey 3
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Question No. 14

(2a~1b%c %)%

(3~ 1b)(2~1ac™4)?

Perform the indicated operation

24b3 c?

a*

LUy
()hl)' C




Question No. 15

s - ' : a-b a°+2ab+b?
Perform the indicated operations and Simplify. et
-Q a‘+a

a+b
Q

-a+b

a

a

a+b

a+ b




25m2

Question No. 3

(S5m+2)

25m+H20m+4

4

Smi+4

Sm+20m+ 4

""?“Mwm i

,.:: |
..v.,u‘ i‘ l |t|l|,

:,;mww J W%ﬁm’f;

i

! l :
1A
| 521

'. ‘ f,..

l Ll

W w Mm il

(illyf
|



Question No. 16

x+1 :
T 1S
(x4+3)(2x-3)

The domain of

R\ {-3, 3)
3

R\ (3, )

R\ {-3, 3}
R\ {—3)




Question No. 8

Factor 4m? — 12m+ 9

© (2m +3)?
> (2m—-T7)(2m - 9)
(2m —3)

(2m —3)(2m + 3)
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- Question No. 10

Solve: 2x% = x — 4

o {-(11i/31))
€ (1+i/31))
G (-1+i/31))
{ (—1+i/31))

———————————————————————————




Question No. 11

If A is any set then A U @ is equal to

l - b i B A
. F i3
&L"'_':“‘““ el |




Question No. 12

(X-2)=2-X IS

The solution set of the equation 6




|
‘ Question No. 5

Simplify the expression by rationalizing the denominator: 2+3 =

N Save & Next

' . e oo

¥ & i
» - =
. (=21 g -



Question No. 9

Simplify and write in the standard form of a complex number
81

4 + 91
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" Question No. 7

Using set notation, the elements belonging to the set: {x] x is a natural number less than 2} are

o {0}
)
?
(1)




:‘ Question No. 6




\ Question No. 4

Factor: (3u +5)*—18(3u +5) + 81

© (3u + 4)*
o (3u+4)(3u—14)
(3u +14)(3u — 4)

(3u — 4)

et p——

- 1' Save & Next




Question No. 1

Which of the following equations has solutions a and b?




43 7 M. b

601«(4/;\'0& 3:&& Z_C.%
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Que: |
“9 - ' .( > - -
b(.‘)]\'lllg the equation r“ +~ax — 1 = x, for . S1VEeES
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Question No. 1

The equation ox2 — 6x = —1 has

two nonreal complex roots
two rational roots

two irrational roots

one repeated rool




Question No. 12

oy ( 1

) 3 m3—4 ma32
Simplify =1
m 3

1

3mz — 4m-=

IN

IN

3m — 4ms:

1

3m — 4msa

3m< — 4m







{

What is the degree of this polynomial: 2x°— 5x* —10x+ 9
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Question No. 21

Find this quotient







Which of the following IS Not 2 nolynomial”

E




Factorcompletely 49a‘b—b°

b(7a+ b)(7a—b)

(7a + b*)7a - b)

Prime. doesn'tfacior

b(7a - b)Y




Jsas ils

a o Vluwall a/ areal numbers lal
-a g
il y L
23

43

-22
-43
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Question No. '

The solution set of the equation 8% = a, for T, is

{d . + gj_{‘—;, R Q/.:).‘}
» N 5 _:
. o




»
&N , ‘
™ ,\ : & &

:;' ‘\
v A ( « O
A

X%S}- oL =
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o { 2 M= (€
L8 f?(‘( *‘-{ K
— =
»'
( S —r L
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Question No 3

The solution set of 4x? + 16x 0 is

(4,0)
(4.1)
(-4, 0)
<. 1]
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BStion No. 25

the equation az? — 6 +9 = 0 has one doubled (repeated) solution. then

1 = 36
1 = ~1
1 = -36
1 =1










o 9m? +90m
mi-10m+80 m*F-18m+00
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[ one solution of 1 L 4+ ¢ = 0 is

- .







Math Quiz

Tetml que siw i e 29 | Ao @

Question No &

F e ovpuati

AL Y i : 1 i .

c_>--

e







Question No. 25

2'71-2

The solution set of -




Question No. 3

The elements from A = {-8, -2,0.5,

of rational numbers are

(-8,-2,05, 159 V25,7,7)
* (-8,-205,2, y25)
(-8,-2,05,22,v25, 7)

(-8,-2,05,7, v25, y10,7)

10

?Oﬁgominp7} tha

Ebelong to the set







Question No. &l

Which expression is equivalent to 16a* — 4956<7




Question No. 16

.

Factor : (4x — y)3®-125

((x—y) + 5)(4x—y) —5(4x—y) + 25)
((4x—y) + 5)((4x—y)2—104x —y) + 25)
((4x—y) —5)((4x-y)" + 5(x—y) + 25)
((4x — y) 5)((4x—y)*+ 104x—y) + 25)




